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Area bounded by the curv&{ y = log xs and

the{foordlnate axes 15)
(a) 2
(©)

‘)E) | -0-
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R

Area between the curve y = cos?'X,)x-axis

and ordinate@}md x =pyin the

interval((0,
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Directions : Read the following statements ABLES ora

—

and choose the correct option from the given A

below four options. — S
) /

Consider the following statements [": oA 46
Statement I : The area bounded by the ” ,, l g‘)
+ 1

curvd y =sin_¥ betw =0and x =2p

152 sq. unity: (f} R
Statement II : The area bounded by the SASM M X
_ s O i
curve y =2 cos@and the x-axis from 5 Cxtosm dn

x =0 tox =2p 1s 8 sq. units.
(a) Statement I 1s true
(b) Statement II 1s true
(c) Both statements are true
(d) Both statements are false
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4 sq. units

(c) 2 sq. units
4 v
/,
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What 1s the area of the triangle bounded by

the lines y= 0/ x +i = i and x =4 ?
N
(a) 4 units J M units

(¢) 12 units H(d) 16 units

NGl "‘lgv"’"'“’"(
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— Theared’ of the ellips + =1 1
first quadrant i@. units. L%qya.égﬁqb)
The ellipse 1s rotated about 1ts Tentre 1n
anti-clockwise direction till its major axis

coincides with y-axis. Now the area of

the ellipse in first quadrant Y ¥ Y2
is | } T SQ. units. @_—

(a) 2

13
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- \*J 1-7 \i‘]i - N =
~= Xy T Im ABLES o,
The area bous by the curve “ _ 8
s d )\l d«ﬂ Y

\!

15
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Directions : This section contains multiple

choice questions. Each question has four
choices (a), (b), (¢) and (d), out of which

One 1S correct.

-

ded by curves ) /@

®§(x 1) +y°

)and X% + v

-

(a) [3_

\/g
(¢) EY

2

)

2_11:
®)
2 3
(d) n, N3
3 2
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N
Area of triangle whose two vertices

formed from the x-axis and
lingv= 3 —|x|1s

, (9P
(a) 9 sq. units (b) 9/4 sq. units
(¢) 3 sq. units (d) None of these D( o) /g (}yh) .ohq
M= 3-1m L
Y= 3- )y M0
Y 3ra) <) (30

NN=2 C39) |
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